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Super goal 4

Choose the correct answer:
1-Ahmad is ( tall-taller-tallest ) than Ali

2-The blue car is( expensiver - more expensive - expensive ) than the red car

JELUWEID

3-Amal gets the ( good-better-best ) mark in the class.

4-There are ( so many - so much - so ) cars that we couldn't park here.

5-It's { such - so - many' ) a beautiful weather that we spent the whole day outside. )

/C:;rrec‘r

1- | have so (many) homewark that | can't go out tonight
| l

2-Marry has the (bad ) mark in the class.

3- Omar is (such) fast that he won the race.

4- Elep hanis.am.[ﬁiﬁ ) than bea rﬁ.l
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